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The views expressed in this publication are those of invited contributors and not necessarily those of
the Institute and Faculty of Actuaries. The Institute and Faculty of Actuaries do not endorse any of the
views stated, nor any claims or representations made in this publication and accept no responsibility
or liability to any person for loss or damage suffered as a consequence of their placing reliance upon
any view, claim or representation made in this publication. The information and expressions of opinion
contained in this publication are not intended to be a comprehensive study, nor to provide actuarial
advice or advice of any nature and should not be treated as a substitute for specific advice concerning
individual situations. On no account may any part of this publication be reproduced without the written
permission of the Institute and Faculty of Actuaries.
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• q¦£=¬³« £°=­¤=mml±=±£²²ª§¬¥=§¬=OMNP=¦~±=¤~ªª£¬K
o q¦£=²­²~ª=¬³« £°=­¤=mml=±£²²ª£«£¬²±=§¬OMNP=§±=POB=ª­µ£°²¦~¬=§¬=OMNOK=e­µ£´£°I=§²
§±=¬­²=®­±±§ ª£=¢£²£°«§¬£=§¤=²¦§±=§±=~¬=§¬¢§¡~²§­¬=­¤=~=²°£¬¢=­°=´­ª~²§ª§²·K

• mml=®°­®£¬±§²·=¦~±=°£¢³¡£¢=§¬=OMNPI=~ª £§²=¬­²=²­=²¦£=±~«£=£¶²£¬²=~±=²¦£=¬³« £°=­¤=mml±K
o q¦£=°£¢³¡£¢=§«®~¡²=­¬=®°­®£¬±§²·§±=¢³£=²­=~=°£¢³¡²§­¬=§¬=ª~°¥£¡ª~§«±=±£²²ª£«£¬²±K
o j­²­°=mml=®°­®£¬±§²·=¤­°=OMNP=§±=OTB=¡­«®~°£¢=²­=PRB=¤­°=²¦£=OMNOK
o i§~ §ª§²·=mml=®°­®£¬±§²·=¤­°=OMNP=§±=~²=UB=¡­«®~°£¢=²­=NUB=§¬=OMNOI= ³²=²¦£=±«~ªª
´­ª³«£=­¤=¢~²~=¥§´£±=°§±£=²­=±§¥¬§¤§¡~¬²=´­ª~²§ª§²·I=±­=¬­=±­ª§¢=¡­¬¡ª³±§­¬±=¡~¬= £
«~¢£K
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§¬¡ª³¢§¬¥=´­ª~²§ª§²·K

• ^´£°~¥£=¢£ª~·=²­=±£²²ª£«£¬²=­¤=~=mml=E¤°­«=~¡¡§¢£¬²=¢~²£F=¦~±=°£¢³¡£¢=§¬=OMNPK
o _³²=§²=¦~±=~ª±­=°£¢³¡£¢=¤­°=¬­¬Jmml=ª~°¥£=¡ª~§«±K
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o p®§¬~ª=§¬¨³°·=mml±=¦~´£=¦§¥¦£°=ª³«®=±³«=~«­³¬²±=~¬¢=~¬¬³~ª=®~·«£¬²±=¢³£=²­=²¦£
¦§¥¦£°=¡~°£=°£¥§«£I= ³²=mml±=~±±­¡§~²£¢=µ§²¦=_°~§¬=§¬¨³°§£±=¦~´£=ª­¬¥£°=¢³°~²§­¬±=~±
²¦£·=~°£=«­°£=¡­««­¬=¤­°=·­³¬¥£°=¡ª~§«~¬²±K

• ®̂®°­~¡¦£±=²~©£¬= ·=§¬±³°£°±=±²§ªª=¢§¤¤£°=¥°£~²ª·I= ³²=§¬±³°£°±=~®®£~°=²­= £=«­°£=¡­«¤­°²~ ª£
µ§²¦=¢£~ª§¬¥=µ§²¦=mml=¡ª~§«±K

o l¬ª·=¦~ª¤=­¤=²¦£=§¬±³°£°±=±³°´£·£¢=§¬¡ª³¢£=~¬=£¶®ª§¡§²=mml=ª­~¢§¬¥=µ§²¦§¬=²¦£§°
®°§¡§¬¥K

o q¦£=«­±²=¡­««­¬ª·=³±£¢=°£~ª=¢§±¡­³¬²=°~²£=¤­°=´~ª³§¬¥=mml=°£±£°´£±=§±=MBI=µ§²¦
±­«£=§¬±³°£°±³±§¬¥=~±=ª­µ=~±JNKRB=­°=~±=¦§¥¦=~±=NBK

o ^ ­³²=~=²¦§°¢=­¤=§¬±³°£°±=®­ªª£¢=¦~´£=¡¦~¬¥£¢=²¦£§°=§¬´£±²«£¬²=±²°~²£¥·=²­=¡­¬±§¢£°
²¦£§°=mml=ª§~ §ª§²§£±K

o j­±²=§¬±³°£°±=~°£¬­²=§¬²£¬¢§¬¥=²­=³±£=²¦£=j~²¡¦§¬¥=^¢¨³±²«£¬²=¤­°=mml±=~²=²¦§±
®­§¬²=§¬=²§«£K

o j­°£=²¦~¬=~=²¦§°¢=­¤=§¬±³°£°±=±³°´£·£¢=~°£=±²§ªª=³±§¬¥=~¬=~¬¬³§²·J¡£°²~§¬=~®®°­~¡¦=²­
°£±£°´§¬¥=±£²²ª£¢=mml±I=~±=­®®­±£¢=²­=~=®°­ ~ §ª§±²§¡=~®®°­~¡¦K

o p­®¦§±²§¡~²§­¬=­¤=~ªª­µ§¬¥=¤­°=mml±=µ§²¦§¬=¡~®§²~ª=«­¢£ª±=¦~±=§¬¡°£~±£¢=­´£°=²¦£=ª~±²
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Settlement Year
Accident Year 0 1 2 3 4 5 6 7 8 9 10 11 12 13
2000 and Prior 41 74 92 105 119 120

2001 20 32 36 42 46 50
2002 22 40 55 63 66 70
2003 24 51 66 85 97 102
2004 11 37 54 77 83 93
2005 9 21 37 63 78 88
2006 4 9 24 44 68 86
2007 1 5 8 26 51 84
2008 0 0 2 8 25 38
2009 4 5 6 15 31
2010 0 0 0 5
2011 0 0 3
2012 0 2
2013 0

Settlement Year
Accident Year 0 1 2 3 4 5 6 7 8 9 10 11 12 13
2000 and Prior 0 0 0 0 0 3 5 7 14 25 39 45 51 53

2001 0 0 0 0 0 1 2 5 9 10 11 12 12
2002 0 0 0 0 2 2 5 13 16 18 22 23
2003 0 0 0 1 1 4 13 18 22 27 29
2004 0 0 0 0 3 18 30 35 43 44
2005 0 0 1 3 9 23 37 43 45
2006 0 0 1 6 21 29 40 47
2007 0 0 0 3 18 23 29
2008 0 0 3 9 23 30
2009 0 0 3 9 22
2010 0 0 2 6
2011 0 0 1
2012 0 0
2013 0

Settlement Year
Accident Year 0 1 2 3 4 5 6 7 8 9 10 11 12 13
2000 and Prior 25% 25% 30% 30% 30% 31%

2001 20% 22% 22% 21% 21% 19%
2002 19% 25% 23% 22% 25% 25%
2003 14% 20% 21% 21% 22% 22%
2004 21% 33% 36% 31% 34% 32%
2005 25% 30% 38% 37% 36% 34%
2006 20% 40% 47% 40% 37% 35%
2007 0% 0% 27% 41% 31% 26%
2008 0% 0% 60% 53% 48% 44%
2009 0% 0% 33% 38% 42%
2010 0% 0% 100% 55%
2011 0% 0% 25%
2012 0% 0%
2013 0%
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Settlement Year
Accident Year 0 1 2 3 4 5 6 7 8 9 10 11 12 13
2000 and Prior 41 33 18 13 14 1

2001 20 12 4 6 4 4
2002 22 18 15 8 3 4
2003 24 27 15 19 12 5
2004 11 26 17 23 6 10
2005 9 12 16 26 15 10
2006 4 5 15 20 24 18
2007 1 4 3 18 25 33
2008 0 0 2 6 17 13
2009 4 1 1 9 16
2010 0 0 0 5
2011 0 0 3
2012 0 2
2013 0

Settlement Year
Accident Year 0 1 2 3 4 5 6 7 8 9 10 11 12 13
2000 and Prior 0 0 0 0 0 3 2 2 7 11 14 6 6 2

2001 0 0 0 0 0 1 1 3 4 1 1 1 0
2002 0 0 0 0 2 0 3 8 3 2 4 1
2003 0 0 0 1 0 3 9 5 4 5 2
2004 0 0 0 0 3 15 12 5 8 1
2005 0 0 1 2 6 14 14 6 2
2006 0 0 1 5 15 8 11 7
2007 0 0 0 3 15 5 6
2008 0 0 3 6 14 7
2009 0 0 3 6 13
2010 0 0 2 4
2011 0 0 1
2012 0 0
2013 0

Settlement Year
Accident Year 0 1 2 3 4 5 6 7 8 9 10 11 12 13
2000 and Prior 15% 25% 44% 32% 30% 67%

2001 13% 25% 20% 14% 20% 0%
2002 12% 31% 17% 20% 57% 20%
2003 11% 25% 25% 17% 29% 29%
2004 21% 37% 41% 18% 57% 9%
2005 18% 33% 47% 35% 29% 17%
2006 20% 50% 50% 29% 31% 28%
2007 0% 0% 50% 45% 17% 15%
2008 0% 0% 60% 50% 45% 35%
2009 0% 0% 75% 40% 45%
2010 0% 0% 100% 44%
2011 0% 0% 25%
2012 0% 0%
2013 0%
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All Heads of Damage ASHE 6115 ASHE Other RPI Not Indexed Total
Care 357 1 0 17 375
Loss of Earnings 5 13 3 0 21
Case Management 0 0 1 0 1
Rent/Accomodation 0 0 1 0 1
Other 1 0 10 3 14
NA/Missing 17 0 2 2 21
Total 380 14 17 22 433
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